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= 23,000
[ 262,130
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22 Jlg= 420,037 387,69 32,338
= 69,700
[ 64,976




SN SYEH
M M) £E2 Sl=sE A4
e sEE DS (Gt H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 285,361
HEoEed s X2 1,920 1,713 207
= 1,200
& 216
Al 504
307 212+01™ 1,920 1,713 207
= 1,200
= 216
Al 504
02 QIZHAAAIEER 1,920 1,713 207
OsENEQIE2 2AHX S22e U Xd
240,000 8% 1,920
= 1,200
= 216
Al 504
sSEALTH 84 X2 (oE, SHEE) 4,000 4,000 0
= 2,500
= 450
Al 1,050
307 212+01 A 4,000 4,000 0
= 2,500
& 450
Al 1,050
06 2832 4,000 4,000 0
Os=22FH 84 X2 (¢H, SIHEE) 4,000
—OtMEE K& 250,000 *8IH 2~ 2,000
= 1,250
& 225
Al 525
—SHEE K& 250,000 *8IH 2~ 2,000
= 1,250
& 225
Al 525
SEME0E gds X& 1,402 2,100 698
201 L2 AH| 1,402 2,100 2698
02 2324l 1,402 2,100 BB
SENEES A0S (MEN0I2) & ®D|
2= 80,0003+ 12& 960
O=ZEMEFA0IS(MENDIS) FX2lH]
442 0002 * 10 2 442
SENE S 20 22924 X7 5,000 0 5,000
= 1,250
Al 3,750




=g
)| B2 =XsE Aa
SEZZ D= EER=E)
SA - B - SRUBH) - MRAR - BAS A HIDEZ
201 Let=dh] 5,000 0 5,000
= 1,250
Al 3,750
01 At2teltl 5,000 0 5,000
SEME0E AZEE2 2
5,000,000& *14] 5,000
=S 1,250
Al 3,750
SOHEME =202 290UN X2 A 86,860 20,682 66,178
& 26,060
Al 60,800
307 lztol & 86,860 20,682 66,178
= 26,060
Al 60,800
02 2B YA E X 86,860 20,682 66,178
OsEMEz2ite 2gULIM S|
21,715,000 x4 86,860
S 26,060
Al 60,800
SEME S 20IS 2AESIA 30,000 30,000 0
& 6,000
Al 24,000
402 QI2F X201 & 30,000 30,000 0
= 6,000
Al 24,000
02 I X2 AL E E (0 30,000 30,000 0
SEHERL0E gdat N3N
30,000,000 *1IH 2 30,000
= 6,000
Al 24,000
sEAL 2ot 81,500 99,000 217,500
301 22N = 35,000 50,000 15,000
14 JIEt2 8= 35,000 50,000 A15,000
OsEds22 MEd 2) X2
5,000& *7,000H 35,000
307 elzto| & 46,500 49,000 22,500
02 2B YAIHE X 46,500 49,000 2,500
OsEMEz0t= Sl X&
23,250,000 #2002 46,500
sE2E WSS 27,355 25,900 1,455
201 fet=3| 14,625 13,600 1,025
01 AtR2tc|Hl 14,625 13,600 1,025
OsZEdg2d A ARES 7Y
1,285,000 %52 6.425




SN SYEH
M A)| B2 =AsE AL
el sEE JIERE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SENSZE D28 2% #40 AN
300,000 *43] 1,200
Os&ENg2d g2= MH
3,500,000 *2JH 2= 7,000
202 04| 1,680 1,800 A120
01 =LHOLI 1,680 1,800 A120
Oz 22NE L Ang B4
60,0003 #4 & +73] 1,680
206 M=l 6,900 7,000 A100
01 MZH| 6,900 7,000 A100
Os=EHEnZ Z2Iu2Y (272
690,000 %102 6,900
301 EetE NS 4,150 3,500 650
11 ALEBIXIE S 4,150 3,500 650
OsEMEZIANEY 2N USEEA 24
83,0002 102 +53] 4,150
AR H s 243 T3 60,000 60,000 0
= 42,000
Al 18,000
307 elzto| & 42,000 42,000 0
= 29,400
Al 12,600
02 2IZHBYAIHE A 42,000 42,000 0
OMEIR =9 245 T20 29
42,000,000 * 11 2 42,000
= 29,400
Al 12,600
402 QI2F X201 & 18,000 18,000 0
= 12,600
Al 5,400
02 QI X2 AL EE(OIETHE) 18,000 18,000 0
OAtld =9 gdal AlEid
18,000,000 * 10K 2= 18,000
= 12,600
Al 5,400
=2 XEE Irsd HEZE |54 48,000 0 48,000
= 24,000
Al 24,000
402 BIZtAH=01H 48,000 0 48,000
= 24,000
Al 24,000
02 QIZEHE AL E (01X THE) 48,000 0 48,000
OOHM BOAIE B4 ¥ BHITY =
60,000, 0002 80f%x 141 48,000
= 24,000




SN SYEH
M A)| B2 =AsE AL
el sEE JIERE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 24,000
SEUSsE WSIHE S Z208 e X2 24,000 0 24,000
== 6.000
Al 18,000
307 212+01& 24,000 0 24,000
< 6,000
Al 18,000
02 2IZHBHAIHE £ 24,000 0 24,000
OsZEusSsg UFNHE AH Z28 i
E 30,000, 0002 80k 1IH 2 24,000
= 6,000
Al 18,000
SE 28 X 43 MY 50,000 0 50,000
== 25,000
Al 25,000
402 2I2F X201 & 50,000 0 50,000
< 25,000
Al 25,000
02 QIZHHZ AL E X (01X THE) 50,000 0 50,000
OANE z=d & ZHl 78 S
50,000,000 * 100 2 50,000
= 25,000
Al 25,000
HsHE XS 987,204 1,104,338 AN7,134
= 344,478
= 121,500
Al 521,226
CAY SESRX XNEH 10,637 11,002 N455
201 eer23y| 7,980 7,980 0
01 AtR2t2|HI 7,980 7,980 0
OAsHE JH0IES & 222 MA
1,790,000 x25 3,580
OAsHE NAMY dF SA==E
100,000 x10E 32l 3,000
OHsHE 28=3 S 7#¥
140,000& x55+23] 1,400
202 048l 1,800 2,160 A360
01 2L A 1,800 2,160 A360
OASTE 22 51 DS Y Q&3 &A
60,0002 38 x102] 1,800
301 2eEN=S 857 952 VaN® 'S
11 dALAEIXIRE S 857 952 NG5
OA=sHE <& A 28 B4
85,7003 x2H 6 857




SN SYEH
M A)| B2 =AsE AL
ol AsAE X (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M=ol SEMSIK(ESIITIISNS) 5,000 6,000 A1,000
= 2,500
== 1,250
Al 1,250
201 =3 1,000 1,000 0
= 500
=S 250
Al 250
01 At 22|l 1,000 1,000 0
OFs(btlasgel) EsIIZ)2ls 1,000
—DTHRIE QL E4ot
20,0002 +x65+102 1,000
= 500
== 250
Al 250
301 EtE NS 4,000 5,000 A1,000
= 2,000
== 1,000
Al 1,000
14 JIEt2 8= 4,000 5,000 A1,000
OZA==g 400,0002 10 4,000
= 2,000
= 1,000
Al 1,000
HSHE B8 FIOHKIE 20,000 10,000 10,000
< 6,000
Al 14,000
201 er2 3| 14,000 7,000 7,000
= 4,200
Al 9,800
01 At2teltl 14,000 7,000 7,000
OFIs7HE %&e &t
7,000,000 22 14,000
= 4,200
Al 9,800
202 04| 4,080 2,040 2,040
& 1,224
Al 2,8%
01 SLHoIH 4,080 2,040 2,040
OFIs7HE 2zl &It 0yl
68,0002 +x6& 10 4,080
= 1,224
Al 2,8%
301 EetE2 N = 1,920 960 960




SN SYEH
M A)| B2 =AsE AL
ol AsAE X (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 576
Al 1,344
11 dAMEEIXIZE S 1,920 960 960
OFSHE wrzsl B4 24
60,0003 x4 & +8L 1,920
= 576
Al 1,344
3 YUY ZEAMY 17,500 25,000 AT,500
== 3,750
Al 13,750
402 2I2E X201 & 17,500 25,000 AT7,500
< 3,750
Al 13,750
02 QI X2 AL EE(OIHTHE) 17,500 25,000 7,500
OXE HASE TAAY
17,500, 0002 *100% 17,500
= 3,750
Al 13,750
AR s NIAEY 491,956 491,9%6 0
= 341,978
= 43,200
Al 106,778
201 fer23| 11,956 11,956 0
= 5,978
Al 5,978
01 AtR2t2lHl 11,956 11,956 0
OHESIE Mg HUEIF AASE
300,0002 x4 1,200
= 600
Al 600
OFE=)H= dY 2E=3
200,0002#25 400
= 200
Al 200
O XIAL &=t 1,035,600& 103 10,35
= 5,178
Al 5,178
307 glztol & 480,000 480,000 0
= 336,000
== 43,200
Al 100,800
02 LB HANHEE 480,000 480,000 0
OFE=i=s gs3% NaE=s N2
480,000,000& x14] 480,000




SN SYEH
mu: 4| B2 2N=E AL
ool AsHE HEX (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 336,000
=S 43,200
Al 100,800
AsAE(FYE) AFFF N 276,111 278,790 A2,679
101 e124d| 15,615 0 15,615
M ORINZZ2NSE S 15,615 0 15,615
OFAsHEXNHHE &S 12| 15,615
—QI24H| 2,350, 7753 18«63 14,105
—4AHEE= 251,660 x1H+62 1,510
201 fer= 3| 2,850 2,850
01 At 22|l 2,850 2,850
Ol AHsFHES BEH SX= X2
1,425,000& x2& 2,850
301 EtE NS 72,646 82,940 /10,294
11 dALEEIXIE S 3,346 5,940 A2,5%4
Ol HsHER BF0 AHAHl XIS
83,6503 »20F 22 3,346
14 JIEt2 a3 69,300 77,000 AT7,700
OA=2 sA Sthg X&
2,500,000 =17 42,500
OFsel OIAMHIE X2
1,000,000& 12 12,000
OFI=2l 0|22 =HEA
925,000 %169 14,800
307 @120l & 34,000 27,000 7,000
02 QItEHAEE X 7,000 0 7,000
OFSU2SMAMEY 2
7,000,000 * 10 2 7,000
12 QIZHQIR & = H| 27,000 27,000 0
OFIsHEZE0l UF
27,000,000 * 14| 27,000
402 212t X201 & 151,000 166,000 A15,000
01 QI X2 AL E R (KEHITHE) 151,000 166,000 15,000
OAsel 28sIIH 7 K&
6,000, 0002 *12CH*50f% 36,000
OA=22 & A
40,000,000 * 11 2 40,000
OAsel =8 c|28d X2
10,000, 0002 *39H 2 #50% 15,000
O2+ Zds(Fs) 2SdLDEL =5 X
! 20,000,000 *6IH 2= x50f% 60,000
H=gol 3 MIAY 90,000 90,000 0
[ 45,000
Al 45,000
307 lztol & 90,000 90,000 0




SN SYEH
M A)| B2 =AsE AL
ol AsAE X (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 45,000
Al 45,000
02 2IZHB A E £ 90,000 90,000 0
OFdsgol 38 MIAE
50,000,000& *2E *90% 90,000
= 45,000
Al 45,000
FHsgol d2S0tel AZA 10,000 7,500 2,500
== 2,500
Al 7,500
307 212+01& 10,000 7,500 2,500
== 2,500
Al 7,500
02 LB HAHE L 10,000 7,500 2,500
OFd=sgel Hds0tel X3
2,500,000 *40H 2= 10,000
= 2,500
Al 7,500
ASHNHE HSE0E =d AtY 25,000 0 25,000
== 7,500
Al 17,500
307 212+01™ 25,000 0 25,000
< 7,500
Al 17,500
02 2B A HE L 25,000 0 25,000
OFISt0E 02802 Z4AE
25,000,000 * 100 £ 25,000
= 7,500
Al 17,500
SUIEIE 23 5,000 0 5,000
s 1,500
Al 3,500
301 EtE NS 5,000 0 5,000
[ 1,500
Al 3,500
14 JIEt2 8= 5,000 0 5,000
OsuIAIL 24 500,000& 10 5,000
S 1,500
Al 3,500
S (SE)0IA A0tLD] 36,000 0 36,000
= 10,800
Al 25,200
307 @120l & 36,000 0 36,000
== 10,800




S sYFMD
Hu: M) 22 SXsE A

Ciol AsAE ZANE (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 25,200
02 QA AAEE X 36,000 0 36,000
Ol (sE)UA &0tL]
18,000,000 *2JH 2= 36,000
== 10,800
Al 25,200
ST &o &2 g 78,140 78,920 AT80
= 7,039
Al 71,101
SE0d SsdEd=2l 2= N 8,130 17,520 29,390
= 2,439
Al 5,691
201 er23| 8,130 17,520 A\9,390
=S 2,439
Al 5,691
01 At 2t 8,130 17,520 29,390
QtETR=Z 8,130,000 * 14 8,130
< 2,439
Al 5,691
H4dsgel ststi |4 2,000 2,000 0
= 600
Al 1,400
301 EtE N = 2,000 2,000 0
= 600
Al 1,400
14 0Bt 243 2,000 2,000 0
Odd=gel cIHuF A=<
500,000 *42] 2,000
== 600
Al 1,400
Hedsgo d2sd HELs K 10,000 10,000 0
= 3,000
Al 7,000
201 Ler23 | 2,000 2,000 0
= 600
Al 1,400
01 AtR2t2lHI 2,000 2,000 0
Old=s0l 2L 2E=3 78
250,000 +82 2,000
== 600
Al 1,400
301 LEIE NS 8,000 8,000 0
= 2,400
Al 5,600




SN SYEH
M A)| B2 =AsE AL
SERES FCERN (Hol: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 JIEt2 8= 8,000 8,000 0
O 8=l Aefdst s dA=E
1,000,000& «82 8,000
= 2,400
Al 5,600
Hesgo s 53,010 44,400 8,610
202 048l 1,080 1,200 2120
01 2L AL 1,080 1,200 A120
Os&EME g% g2l & &
60,0002 x2& *93] 1,080
203 gF=4| 500 500
03 A= H 2| 500 500
Old=sgel s H2FA
500,000& 14 500
206 M=l 18,000 18,000
01 M=4l 18,000 18,000
Old=sge s8EY s M2
500,0003 4 2t & +53] 10,000
Od=sgel dS38A u=E M=
400,000 4 2t & +53] 8,000
301 EtE NS 21,430 12,700 8,730
11 dALEEIXIZE S 6,300 7,000 AT700
ONd=sel us & AL HFA24
70,0003 %302 +33] 6,300
14 JIEt2a3 15,130 5,700 9,430
ONd=gel sEHY dA=E
756,500& 202 15,130
307 212+01& 12,000 12,000
02 2B HAHE L 12,000 12,000
Old=sgel stisx=z 08 &
3,000,000 x4 1t & 12,000
MEIHHSR el H0 & WsA 5,000 5,000 0
= 1,000
Al 4,000
301 EetE2 N = 5,000 5,000 0
=S 1,000
Al 4,000
1 ARHIXES 5,000 5,000 0
Of= O{d=gel a5t S 0
A& 5,000,000& 12 5,000
< 1,000
Al 4,000
S SIHL ALY 10,982,280 5,203,717 5,778,563
= 6,438,000
< 173,000




SN SYEH
ZM: )| B =XsE AL
Rl SSHENE A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 4,371,280
SEEY 19,042 18,954 88
201 fet=23y| 17,122 16,800 322
01 AtR2tc|HI 12,972 11,800 1,172
Os&EELIs| BaLg
100,000& 10 32! 3,000
OSE80 MEA XX HASY
100,000& 8 & *32 2,400
OSZE8 G20 Aag
100,000 5 & »23] 1,000
OARES 78 59,0002 +82] 472
O=28 HSAE S3HHEH AlE= 22
£ 7 6,100
—AIREE 28 80,0002 %102 800
—34E3 78 80,0002 102 800
—SgJ Sz 80,0003 *2CH* 122 1,920
—=gJl, 2y 2235 P
100,000& »2LH+*52] 1,000
-8 SRz 30,0002 +3CH* 12 1,080
—SRUBIET S A2 7
100,000 %52 500
02 s3=gbl 4,150 5,000 A850
O=28 HSAE S3HHEH AIE= 22
=&58=s 4,150
— 4l &®I123(20kw) 85,000& * 122 1,020
—dle SeRs 85,0002 12 1,020
—HIg] &ot=ER3 85,000& * 122 1,020
—dlE AlERXI2te 545,000 <22 1,090
202 04l 1,920 2,154 N2
01 2LHoIH 1,920 2,154 N23A
Os&8o I8 8 o MFX A8
60,0003 4 & +83] 1,920
SETEYNAYE 29 111,638 109,163 2,475
101 @1A4H| 108,608 106,763 2,845
04 JIZtNZ22 XS 2+ 108,608 105,763 2,845
O=ESdSXJEE JIREMZ2 X 2124H|(
EIE) 40,297
—JlEs 2,349,000« 1&~11& 25,839
—ZitE 11,2002 x 1+ 1BAIZ 113 1,848
—E3+4 20,0003+ 1H*10A1 2t 112 2,200
—gAZAHI 140,000 x 1+ 112 1,540
— S E X 180,000&x 12+ 11& 1,980
—g&=2d 1,410,000& x1& 23] 2,820
—AHEERE JIARES
370,000&* 112 4,070




SN SYEH
M A)| B2 =AsE AL
SRl SMHEINEAIS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=ZZdXJEE JIMZ22 X 2124HI(
g121) 68,311
—JI2= 1,923,000 x2&* 112 42,306
—=it=E 9,600 x2&*15AI 2+ 113 3,168
—E£3¥=+4 20,0003 x2E*10A1 2t 113 4,400
—FoAZ A 40,0002+ +112 3,080
e EEES:] 175,00021 22 +112 3,850
—gEag 1, 155,25021 224 %23 4,621
—42ER JIERya
626,000& 112 6.886
201 er23| 3,030 3,400 A370
01 At2teltl 1,700 1,700 0
OARES 7Y 50,0002 %102 500
O=sgll gits 100,000& * 122 1,200
02 S3=gHl 1,330 1,700 A370
OsZZH3tHH dat 2HY AAES
110,830« 12& 1,330
OIS RHED] A (HEHALY) 2,109,600 1,339,600 770,000
201 er2 3| 9,600 9,600 0
01 At2teltl 9,600 9,600 0
O0IS2SIIAY 22933 319l 2 A9
SSHEEALY) 100,002+ 1124+63] 6,600
ODISRIS)| DS % 222 MX} HX(XE
Atd) 10,0002 *300 3,000
307 212+01™ 50,000 50,000
02 LB HAHE L 50,000 50,000
O=&Al &I1E2 =& 0I=H7I] SEA
A (EHEALS) 5,000,000 * 1094 2= 50,000
401 Al HIZ 2018 2,050,000 1,280,000 770,000
01 Al&H| 2,050,000 1,280,000 770,000
O2022E OFSRFSIIAE (D EA ) (SFAIN
BN, FUBE, TP
180,000,000 *4JH 2 720,000
02023 OIS 2SIIAE (MEAL ) (S=atd
TSR, BHEAH, M)
270,000,000 *4H 2 1,080,000
O2024F OIS 2SIIAS (MEAL) (KHE4, 5
&) 50,000,000 54 2~ 250,000
STE JIZUENET LMY 984,000 461,000 523,000
= 689,000
Al 295,000
403 MR HHMSAHE01H 984,000 0 984,000
[ 689,000
Al 295,000
02 V2S00t H=E S AL 984,000 0 984,000




SN SYEH
M ) E2 SAsE A
Rl SSHENE A (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OsF8 I ZMENEZLEAE
984,000,000& 14 984,000
s 689,000
Al 295,000
SEH J=MENFEZLEAMS 984,000 461,000 523,000
s 689,000
Al 295,000
403 REXISHHIS K201 & 984,000 0 984,000
s 689,000
Al 295,000
02 20| 2SOCHet A2 X 2 EFAIZ I 984,000 0 984,000
OSEH I =MENF LA
984,000,000 14 984,000
= 689,000
Al 295,000
AME J=MEAHEZLEAS 984,000 462,000 522,000
s 689,000
Al 295,000
403 REXISHHIS K201 & 984,000 0 984,000
s 689,000
Al 295,000
02 20| 2SOCHE A2 X 2 EFAIZ I 984,000 0 984,000
AN J|=MEHEZLAS
984,000,000 14 984,000
= 689,000
Al 295,000
oM DI MENEZ LAY 984,000 462,000 522,000
s 689,000
Al 295,000
403 REXISHHIS K201 & 984,000 0 984,000
s 689,000
Al 295,000
02 I 2SOCHE A2 X | EFAIZ I 984,000 0 984,000
OLotH J|=MENEF LA
984,000,000& x 14! 984,000
= 689,000
Al 295,000
S I MEBHEZLAS 984,000 461,000 523,000
s 689,000
Al 295,000
403 XXM S K201 & 984,000 0 984,000
s 689,000
Al 295,000
02 I 2SOCHE A2 X | EFAIZ I 984,000 0 984,000




SN SYEH
M A)| B2 =AsE AL
Rl SSHENE A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ol JIZMEHET LA
984,000,000 * 14 984,000
= 689,000
Al 295,000
A D ZHEAHET LAY 984,000 462,000 522,000
[ 689,000
Al 295,000
403 AXIEHHSAH=201H 984,000 0 984,000
= 689,000
Al 295,000
02 SIS0t =S A AEHI 984,000 0 984,000
OMAI JIZMEHET LA
984,000,000 x 14 984,000
= 689,000
Al 295,000
T Dz AHET LAY 891,000 0 891,000
[ 624,000
Al 267,000
403 AXIEHHSAH=201H 891,000 0 891,000
[ 624,000
Al 267,000
02 SIS0t =S A A 891,000 0 891,000
O=gd J|=dENE g
891,000,000 *14] 891,000
= 624,000
Al 267,000
SHE FHAXY MBI WA oiHIHE 28 22,000 22,000
207 ARl 22,000 22,000
01 S| 22,000 22,000
OSHE FAXS U0 WAL Ol
He =8ES 22,000,000 * 14! 22,000
2N ofd SHE FHAXNH ME0A WAL 474,000 575,000 101,000
s 431,000
s 43,000
401 Al HIZL 201 474,000 575,000 101,000
= 431,000
[ 43,000
01 AlZH| 474,000 575,000 A101,000
O&d otd sOE AN daHAd Hx
Ar& 474,000,000 *14] 474,000
[ 431,000
= 43,000
S 4T SOHE FAXNS S0 WA 576,000 0 576,000
= 527,000




SN SYEH
M &) E2 SANsE A8
Rl SSHENE A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 49,000
401 AlEHIZ S OHbI 576,000 576,000
[ 527,000
= 49,000
01 AlZ8| 576,000 576,000
S 4% SOHE FANSG H20iA HE
ted 576,000,000& x14] 576,000
= 527,000
=S 49,000
HAb =22 SHE FHAX S MEHA HEAS 471,000 471,000
= 422,000
< 49,000
401 AIZHIX S0HH 471,000 471,000
[ 422,000
= 49,000
01 AlZ28| 471,000 471,000
OdAL 2= SOE FHAXS HEHA WX
ArS 471,000,000& *14] 471,000
= 422,000
= 49,000
& 2EH SHE FHAXN A MEHA HEAMY 196,000 196,000
= 147,000
[ 15,000
Al 34,000
401 Al HIZL 201 196,000 196,000
s 147,000
== 15,000
Al 34,000
01 Al&HI 196,000 196,000
OFQ 2B S0IE FHOX MBOIA HE
Ared 196,000,000 * 14| 196,000
= 147,000
=S 15,000
Al 34,000
SF A5 SOHE FHAXNY M0 WA 208,000 208,000
= 163,000
=S 17,000
Al 38,000
401 AIEHIZ SR THYI 208,000 208,000
[ 153,000
= 17,000
Al 38,000
01 A28l 208,000 208,000




SN SYEH
B M) B2 =SRsE AL
SRl SMHEINEAIS (SH9 H2)
SA - B BRA(SH) - HRA - of v G o HIDE2
O&% ME =0/ FOK% MBI HE
Ared 208,000,000 » 14 208,000
= 153,000
[ 17,000
Al 38,000
HIE HAt2el 101,195 101,662 N467
EA2e| 101,195 101,662 N4BT
sI=dE FAIEH 101,195 101,662 N4BT
201 Let2 ] 80,965 91,662 10,697
® 2=2H| 80,965 91,662 10,697
OHIEf AR B4H|
1,600,000& 113 17,600
Odle &JIME= 2,000,000& ~12& 24,000
OHlt &ot=E AtE=
1,200,0002 122 14,400
OdlH fBR= 200,000 x50 =123 12,000
OHIE| Z24 Hols WM 2 Mz
1,350,000 *42] 5,400
Odle NgHEA FA 2=
1,882,500 23] 3,765
OogesSity RE-44
80,0002 %402 3,200
Odlf! Ages =dg 50,000 * 122 600
401 AIE2HIX S THYI 20,230 10,000 10,230
01 Al&H| 20,230 10,000 10,230
OseIEHE FAZH
10,000,000 * 14 10,000
OXIAFHA (ML) AL o012 £X
10,230,000%*1/%' 10,230
| E2 SANsE A4 305,000 300,000 5,000
= 213,000
Al 92,000
SO ENL AL 305,000 300,000 5,000
[ 213,000
Al 92,000
=HAl SEHBAY 305,000 300,000 5,000
[ 213,000
Al 92,000
101 e124d| 90,000 90,000 0
= 62,854
Al 27,146
M ORIMZZ2NSE S 90,000 90,000 0
OsZZESIXALE JIEMZZX I24HI(
ANR=E) 44,131
—JlZ2= 2,611,000« 112 28,721




SN SYEH
M ) E2 SAsE A
el SAHESINE AL (e
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
s 20,059
Al 8,662
— == 12,4002 *1G*15A1 20+ 113 2,046
s 1,429
Al 617
—E=&Y 20,0002 1H*10Al 2t+ 11 2,200
s 1,636
Al 664
—ZMZAlY| 140,000& 1H+ 112 1,540
= 1,075
Al 465
— A3 EXH| 185,000 x 1= 113 2,035
= 1,421
Al 614
—gEE 1,567,000& *1E*23] 3,134
= 2,189
Al 945
—4UEE J|aRE3 405,000+ 11 4,455
s 3,111
Al 1,344
O=Z=243XJAHE JI2tHZ 2R e1248((
EIE) 40,297
=Jlgs 2,349,000 x1H+11& 25,839
s 18,046
Al 7,793
— == 11,2002 *1G*15A1 20+ 113 1,848
s 1,291
Al 557
—E&¥E 20,0002 x1H*10A12t+ 11 2,200
s 1,536
Al 664
—HoAUZ A 14000024 124* 118 1,540
= 1,075
Al 465
—NZEXH| 180,000 x1H 113 1,980
s 1,383
Al 597
k= 1,410,000& *1E*23| 2,820
s 1,969
Al 851
—40EEz J|2RY3
370,0002x11& 4,070
s 2,842
Al 1,228




SN SYEH
M &) E2 SANsE A8
Rl SSHENE A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Osza&s At Aa2sing A
278,600 x5 +43] 5,572
= 3,892
Al 1,680
201 et 3| 172,500 118,600 53,900
[ 120,464
Al 52,036
01 At22t2l] 52,500 25,600 26,900
OXgANIIAEY § UFES 7
225,0002x105+102] 22,500
s 15,714
Al 6.786
OAzZggdat g2= S M
100,000& 20 *105 20,000
[ 13,968
Al 6,032
OAZIg2ds Nz S M
10,0002 x 1002+ 105 10,000
s 6,984
Al 3,016
03 A= SHI 120,000 93,000 27,000
OXNg eIHIE |4 1S S 89
3,000, 000& *202] 60,000
[ 41,904
Al 18,096
Oll=ssH g4dst T2 s 29
3,000,000& 153 45,000
s 31,418
Al 13,582
OltessH gdat 25 S A&
1,000,000& * 152! 15,000
[ 10,476
Al 4,524
301 2eEN= 42,500 85,400 242,900
= 29,682
Al 12,818
11 dAMEEIXIZE S 42,500 85,400 242,900
ODI2ZSH 24012 78 S YA
3,000,000 #53] 15,000
= 10,476
Al 4,524
OXg eIHIE |4 WS S 24|
3,000 %508 »502] 7,500
= 5,238
Al 2,262




SN SYEH
ZM: )| B =XsE AL
Rl SSHENE A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXg XA 54 1S S =44|
8,000 +50& »503] 20,000
= 13,968
Al 6,032
HY2IHH (=S H2m) 203,713 206,855 A3, 142
el 2| 85,572 80,136 5,436
el 24| 85,572 80,136 5,436
101 @124H| 85,572 80,136 5,436
01 &= 85,572 80,136 5,436
OAIZRAZ 25
11,3193 =212 *30A[ 2+ 123 85,572
Jl=23sl 118,141 126,719 A\8,578
JI=23Hl 118, 141 126,719 N\8,578
201 fer=2 3| 66,631 77,759 A11,128
01 At 2|l 65,497 76,499 A11,002
O=EMY) 2LRE+8Y)
1,760,000& 123 21,120
OJIZAREEHI 1,378,000& «12& 16,536
O=EH| 8,000 x20H 52 x 12 9,600
O=AD| gitz 750,000 x 122 9,000
OLEEZ S 100,000 *2CH* 123 2,400
O&J|etd et el
183,000& * 1294 & 2,1%
MRS U o7
15,0002 125122 2,160
O=ABX 7 480,0002#23] 960
OHIE H#EEIE S 422 79
305,000 #52] 1,525
02 S5=2g4l 1,134 1,260 A126
O2Sitg =4l 66,0002 42 264
OXS A 200,000 *3CH 600
OgRESAE MRl 35,0002 *3LH*22] 210
OXsSXHEI| Az 20,0002 «3CH 60
202 04l 36,960 36,280 1,680
01 SLHoIH 36,960 36,280 1,680
OJ|22 s 0l
20,0003 x2EH+72L x 12 36,960
203 HF=AH] 14,550 13,680 870
01 D[22 PR FA| 4,400 4,400 0
Osl=de A 4,400,000 ~1H 4,400
02 HRAIMAHA R S| 5,350 5,080 270
OZEIRIE R 5,350,000 * 14 5,350
M EA2HER=AH 4,800 4,200 600
ORA2ZYREZY| 400,000 % 122 4,800




